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1. Epididymis lies between:        

 (1) Rete testis and vasa efferentia   (2) Vas deferens and vasa efferentia  

 (3) Vas deferens and ejaculatory duct   (4) Seminal tubules and rete testis  

        vf/ko`"k.k fdlds e/; fLFkr gksrk gS & 

 (1) o`"k.k tkfydk ,oa 'kqØokfgdk    (2) 'kqØokgd ,oa 'kqØokfgdk  

 (3) 'kqØokgd ,oa L[kyuh; okfguh    (4) 'kqØufydk,sa ,oa o`"k.k tkfydk  

 

2. The correct sequene of events during reproduction is   

 (1) Gamete transfer, Gametogenesis, Zygote formation, Embryogenesis 

 (2) Gametogenesis, Gamete transfer, Zygote formation, Embryogenesis 

 (3) Gametogenesis, Zygote formation, Gamete transfer, Embryogenesis 

 (4) Gametogenesis, Gamete transfer, Embryogenesis, Zygote formation 

 iztuu ds nkSjku gksus okyh ?kVukvksa@fØ;kvksa dk lgh Øe gS& 

 (1) ;qXed LFkkukraj.k] ;qXedtuu] ;qXeut fuekZ.k] Hkwz.ktuu 

 (2) ;qXedtuu] ;qXed LFkkukraj.k, ;qXeut fuekZ.k, Hkwz.ktuu 

 (3) ;qXedtuu] ;qXeut fuekZ.k, ;qXed LFkkukraj.k, Hkwz.ktuu 

 (4) ;qXedtuu] ;qXed LFkkukraj.k, Hkwz.ktuu, ;qXeut fuekZ.k 
 

3. Which one of the following statements about human sperm is correct.       

 (1) The sperm lysins in the acrosome dissolve the egg envelope facilitating fertilisation 

  (2) Acrosome serves as a sensory structure leading the sperm towards the ovum 

  (3) Acrosome seves no particular function 

  (4) Acrosome has a conical pointed structure used for piercing and penetrating the egg resulting in 

fertilisation. 

 ekuo 'kqØk.kq ds fo"k; eas fuEufyf[kr eas ls dkSu lk ,d dFku lgh gSA     

 (1) ,Økslkse es 'kqØk.kq-ykbflu v.Ms ds vkoj.k dks ?kqyk nsrs gSa ftlls fu"kspu ds fy, lqfo/kk gks tkrh gSaA  

  (2) ,sØkslkse ,d laosnh lajpuk dk dk;Z djrk gS ftlls 'kqØk.kq vaMk.kq dh vksj vkxs-vkxs c<+rk tkrk gSA  

  (3) ,Økslkse dksbZ [kkl dk;Z ugha djrk  

  (4) ,Økslkse esa ,d 'kaDokdkj uqdhyh lajpuk gksrh gS ftldk mi;ksx vaMs dks cs/kus esa mlds Hkhrj izos'k djus ds fy, 

fd;k ftlls fus"kspu gks tkrk gSaA  

 

ZOOLOGY: HUMAN REPRODUCTION 

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


       
 
 

 

 

Pre Medical Division: CG Tower-2, A-51(A) IPIA, Behind City Mall, Jhalawar Road, Kota (Raj.)-324005 

Website: www.resonance.ac.in | E-mail: contact@resonance.ac.in 
PAGE NO.-2 

Toll Free : | 1800 258 5555  | CIN: U80302RJ2007PLC024029 

  

SARANSH | BIOLOGY 

 
4. The seminiferous tubules of the testis is lined on its inside by  

 (1) spermatocytes     (2) spermatogonia 

 (3) cells of Sertoli     (4) Both (2) and (3) 

 o`"k.k dh 'kqØtud ufydk,a blds vanj dh vksj ls iafäc) gksrh gSa 

 (1) LiesZVkslkbV~l     (2) 'kqØk.kqtu 

 (3) lVksZyh dh dksf'kdk,¡    (4) nksuksa (2) vkSj (3) 

 

5. Choose the incorrect pair.  

 (1) Leydig cells - Secrete testicular hormone 

 (2) Vasa efferentia and epididymis - Accessory ducts 

 (3) Vas deferens - Loops over the urinary bladder 

 (4) Ejaculatory duct - Vasa efferentia and seminal vesicle 

 xyr tksM+h pqusa- 

 (1) ysfMx dksf'kdk,¡ & o`"k.k gkeksZu lzkfor djrh gSa 

 (2) oklk ,Qsjsafl;k vkSj ,fifMMkbel & lgk;d ufydk,a 

 (3) okl fMQsjsal & ew=kk'k; ds Åij ywi 

 (4) L[kyu okfguh & oklk bQsjsafV;k vkSj 'kqØk'k; 

 

6. How many secondary spermatocytes are required to form 400 spermatozoa?   

 400 LiesZVkstksvk ds fuekZ.k gsrq fdruh f}rh;d LiesZVkslkbV dh vko';drk gksrh gSa\ 

 (1) 40   (2) 100   (3) 200   (4) 400 
 

7. The number of chromosome in the spermatid of man –     

 euq"; ds 'kqØk.kqiwoZ (Spermatid) esa xq.klw=kksa dh la[;k &           

 (1) 48   (2) 23   (3) 24   (4) 46 
 

8. Spermatogenesis involves –   

 (1) Mitosis  (2) Meiosis  (3) Transformation (4) 1 & 2 both 

 'kqØk.kqtuu ds le; D;k gksrk gSS       

 (1) lelw=k.k  (2) v/kZlw=k.k  (3) :ikUrj.k  (4) 1 vkSj 2 nksuksa 

 

9. The 1
st

 meiosis during spermatogenesis gives rise to the two    

 (1) unequal haploid secondary spermatocytes 

 (2) equal haploid spermatids 

 (3) equal haploid secondary spermatocytes 

 (4) unequal haploid spermatids 

 'kqØk.kqtuu ds nkSjku izFke v)Zlw=kh foHkktu ls mRié gksrs gSa nks& 

 (1) vleku] vxqf.kr f}rh;d LiesZVkslkbV~l ¼'kqØk.kqdk;½ 

 (2) leku vxqf.kr LiesZfVM~l 

 (3) leku vxqf.kr f}rh;d LiesZVkslkbV~l 

 (4) vleku vxqf.kr LiesZfVM 
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10.  The correct order of spermatogenesis is :     

 (1) Spermatid  Spermatogonia  Spermatocytes  Spermatozoa 

 (2) Spermatogonia  Primary Spermatocyte Secondary Spermatocytes  Spermatid  Spermatozoa 

 (3) Primary Spermatocyte  Spermatogonia  Secondary Spermatocytes  Spermatozoa  Spermatid 

 (4) Spermatogonia  Secondary Spermatocyte  Primary Spermatocyte  Spermatid  Spermatozoa. 

(spermatogenesis) dh fofHkUu izkoLFkkvksa dk Øe gksrk gS: 

 (1) LiesZfVM   LiesZVksxksfu;k  LiesZVkslkbV~l  LiesZVkstksvk  

 (2) LiesZVksxksfu;k  izkFkfed LiesZVkslkbV  f}rh;d LiesZVkslkbV~l  LiesZfVM  LiesZVkstksvk  

 (3) izkFkfed LiesZVkslkbV  LiesZVksxksfu;k  f}rh;d LiesZVkslkbV~l  LiesZVkstksvk  LiesZfVM   

 (4) LiesZVksxksfu;k   f}rh;d LiesZVkslkbV  izkFkfed LiesZVkslkbV  LiesZfVM  LiesZVkstksvk 

 

11.  Androgens are synthesized and secreted by :-      

 (1) Leydig cells     (2) Sertoli cells   

 (3) Male germ cells    (4) Theca cells 

fufeZr rFkk L=kfor gksrs gS :- 

 (1) fyfMax dksf'kdkvksa (Leydig cells) ds }kjk  (2) lVksZyh dksf'kdkvksa (Sertoli cells) ds }kjk 

 (3) uj teZ dksf'kdkvksa (Male germ cells) ds }kjk (4) vf/ko`"k.k (Epididymis) ds }kjk 

 

12. Fructose is secreted by ___a___ and lubrication of penis is done by ___b___  

 (1) (a) Seminal Vesicle, (b) Cowper's gland 

 (2) (a) Seminal vesicle, (b) Prostate gland 

 (3) (a) Prostate gland, (b) Bartholin's gland 

 (4) (a) Prostate gland, (b) Cowper's gland 

 ÝDVkst dk L=ko.k ___a___ ds }kjk gksrk gSA rFkk f'k'u dk Lusgu ___b___ ds }kjk gksrk gSA  

 (1) (a) 'kqØk'k; (Seminal Vesicle), (b) dkÅij xazfFk 

 (2) (a) 'kqØk'k;, (b) iqjLFk xzfUFk (Prostate gland) 

 (3) (a) iqjLFk xzfUFk, (b) ckFkzksfyu xzafFk 

 (4) (a) iqjLFk xzfUFk, (b) dkÅij xazfFk 

 

13. Head of sperm contains         

 (1) Nucleus and Mitochondria    

 (2) Mitochondria and Acrosome 

 (3) Acrosome and Nucleus    

 (4) Nucleus, Centriole and Mitochondria 

 'kqØk.kq (sperm) ds 'kh"kZ esa gksrk gS : 

 (1) dsUnzd rFkk lw=df.kdk (Mitochondria)   

 (2) lw=df.kdk rFkk ,Økslkse 

 (3) ,Økslkse rFkk dsUnzd      

 (4) dsUnzd] rkjddk; (Centriole) rFkk lw=df.kdk 
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14. Seminal plasma in humans is rich in       

 (1) Fructose, Calcium and Certain enzymes 

 (2) Fructose and Calcium but has not Enzymes 

 (3) Glucose and Certain enzymes but has no Calcium 

 (4) Fructose and Certain enzymes but poor in Calcium 

 euq";ksa dsa 'kqØk'k;h IykTek esa izpqj ek=k gksrk gS&  

 (1) ÝDVkst] dSfYl;e rFkk dqN ,atkbe gksrs gSa 

 (2) ÝDVkst vkSj dSfYl;e rks gksrs gSa ysfdu ,atkbe ugha gksrs gSA 

 (3) Xywdkst vkSj dqN ,atkbe rks gksrs gSa ysfdu dSfYl;e ugha gksrk gSA  

 (4) ÝDVkst rFkk dqN ,atkbe rks gksrs gSa ysfdu dSfYl;e cgqr gh de gksrk gSA 

 

15. Select the correct sequence for transport of sperm cells in male reproductive system.  

 (1) Seminiferous tubules  Vasa efferetia  Epididymis  Inguinal canal Urethra  

   (2) Testis  Epididymis  Vasa efferentia  Vas deferens  Ejaculatory duct  Inguinal canal  Urethra 

 Urethral meatus    

   (3) Testis  Epididymis  Vasa efferentia  Rete testis  Inguinal canal  Urethra  

 (4) Seminiferous tubules  Rete testis  Vasa efferentia  Epididymis Vas deferens  Ejaculatory 

duct  Urethra  Urethral meatus

 uj tuu ra= esa 'kqØk.kq dksf'kdkvksa ds ifjogu ds  Øe dk p;u djksA 

 (1) 'kqØtud ufydk,¡  'kqØokfgdk,¡  vf/ko`"k.k   bafXouy uky   ew=ekxZ 

   (2) o`"k.k   vf/ko`"k.k   'kqØokfgdk,¡   'kqØokgd   L[kyuh; okfguh   bafXouy uky   ew=ekxZ   ;wjsFkzy ehVl  

   (3) o`"k.k   vf/ko`"k.k   'kqØokfgdk,¡   o`"k.k tkfydk,¡   bafXouy uky   ew=ekxZ 

 (4) 'kqØtud ufydk,¡   o"̀k.k tkfydk,¡   'kqØokfgdk,¡   vf/ko`"k.k 'kqØokgd   L[kyuh; okfguh    ew=ekxZ 

  ;wjsFkzy ehVl 

 

16.  After some time of ejaculation, semen liquefies due to presence of an enzyme which is found in secretion 

of:         

 (1) Vagina  (2) Seminal vesicle (3) Prostate gland (4) Cowpers gland 

   L[kyu (ejaculation) ds i'pkr~] ,d  dh mifLFkfr ds dkj.k oh;Z (semen) nzohdr̀ gks tkrk gS] ;g ,atkbe 

fdlds L=ko esa ik;k tkrk gS 

 (1) ;ksfu ds  (2) 'kqØk'k; ds  (3) iqjLFk xzfUFk ds  (4) dkmij xzfUFk ds 

 

17.  The male sex accessory ducts include ?     

 (1) Rete testis, Vasa efferentia, Seminiferous tubules and seminal vesicles.  

 (2) Rete testis, Epididymis, Vas deferens and Urethra  

 (3) Rete testis, Vasa efferentia, Epididymis and Vas deferens. 

 (4) Vasa efferentia, Vas deferens, Ejaculatory duct and Penis. 

 uj fyax lgk;d ufydkvksa (male sex accessory ducts) esa “kkfey gSa \  

 (1) ò"k.k tkfydk,¡] 'kqØ okfgdk,¡] 'kqØtud ufydk,¡ (Seminiferous tubules) ,oa 'kqØk'k; (seminal vesicles)    

 (2) o`"k.k tkfydk,¡] vf/ko`’k.k, 'kqØokgd ,oa ew=ekxZ (Urethra)  

 (3) o`"k.k tkfydk,¡ (Rete testis)] 'kqØ okfgdk,¡ (Vasa efferentia), vf/ko`’k.k (Epididymis) ,oa 'kqØokgd (Vas 

deferens) 

 (4) 'kqØ okfgdk,¡] 'kqØokgd] L[kyuh; okfguh (Ejaculatory duct) rFkk f'k'u (Penis) 
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18.  The shared terminal duct of the reproductive and urinary system in the human male is :  

 (1) Urethra      (2) Ureter   

 (3) Vas deferens     (4) Vasa efferentia 

 ekuo uj esa tuu vkSj ew= iz.kkyh (urinary system) dh lk>h vaR; okfgdk (shared terminal duct)gSA 

 (1) ew=ekxZ (Urethra)    (2) ew=okfguh (Ureter) 

 (3) 'kqØokgd (Vas deferens)   (4) 'kqØokfgdk (Vas eferentia) 

 

19.  Which hormone maintains the functions of male sex accessory ducts and glands?   

 (1) LH   (2) FSH   (3) Estrogen  (4) Androgens 

 dkSulk uj ySafxd lgk;d ufydkvksa (male sex accessory ducts) o xzfUFk;ksa (glands) ds dk;ksaZ dks cuk;s 

j[krk gS ? 

 (1) LH   (2) FSH   (3) ,LVªkstu  (4) ,.MªkstUl 

 

20.  If for some reason, the vasa efferentia in the human reproductive system get blocked, the gametes will 

not be transported from :       

 (1) Vagina to uterus    (2) Testes to epididymis  

 (3) Epididymis to vas deferens   (4) Ovary to uterus 

 ;fn euq"; ds tuu&ra=k esa fdlh dkj.ko'k viokfgdkvksa esa ck/kk vk tkrh gS rks ;qXedksa dks dgk¡ dk dgk¡ rd ifjogu 

ugha gks tk,xk \ 

 (1) ;ksuh ls xHkkZ'k; esa    (2) o`"k.kksa ls ,fifMfMfel esa 

 (3) ,fifMfMfel ls 'kqØokfgdk esa   (4) v.Mk'k; ls xHkkZ'k; esa 
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